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Type [mm]  [mm] [mm] [mm] [mm] [mm] IN] IN] lal [mm]  [mm] [mm] [mm]
K110T 10 0-10 0-10,5 0,005 0,02 0,005 08 12 265 P67 217 148 @6 35 (12] E 173265
D110T 10 0-10 0-105 0,005 0,02 0,005 08 12 175 P65 217 148 06 35 (2] M 1732-45
K220T 20 0-20 0-20,5 0,01 0,04 0,01 11 16 310 IP67 282 207 10 85 [12] E 173265
D220T 20 0-20 0-20,5 0,01 0,04 0,01 11 16 220 IP65 282 207 TG0 85 [12] M 173245
K330T 30 0-30 0-305 0,01 0,06 0,04 09 16 430 IP67 36 24 G50 116 [14] E 173271
K450T 50 0-50 0-505 0,01 0,06 0,04 08 17 500  IP67 36 24 @50 167 [14] E 173271
D450T 50 0-50 0-505 0,05 0] 0,05 08 17 440 IP65 36 24 (50 167 [14] M 1732-51
K4100T 50  50-100  495-100,5 0,01 0,06 0,04 08 7 520  IP67 36 7 F @50 167 [14] E B
D4100T 50 50-100  495-100,5 0,05 0,075 0,05 08 17 450  IP65 36 7 050 167 [14] M B
K8100T 00 0-100 0-101 0,05 015 0, 08 18 670  IP67 39 7 @50 375 [14] E b=
D8100T 100 0-100 0-101 0, 015 0] 08 18 610 P65 39 7 (50 375 [14] M b=
€12100T 00 0-100 0-101 0, 03 0,2 16 22 1000 - 34 14 T @50 550 [14] E b=
D12100T 100 0-100 0-101 01 03 0.2 16 22 1100 - 34 14 (50 550 [14] M 1
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